Moto-All.ru

CIIMCOK JOETAJIEY [IJ1d "BRAKES BRAKE PEDAL AND MASTER
CYLINDER - A10ZN85AL AQ AX" POLARIS A10ZN85AL AQ AX

SPORTSMAN XP 850

[WWW.OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75

© 2009 Polaris Sales Inc.



CITMCOK OETAJIEY [1J1d "BRAKES BRAKE PEDAL AND MASTER
CYLINDER - A10ZN85AL AQ AX" POLARIS A10ZN85AL AQ AX

SPORTSMAN XP 850

[WWW.OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75

1 1911224 Cpox nocTaBku 0T 27 fHER ASM-RESERVOIR

2 5413262 Cpox nocraBku 0T 27 fHER DIAPHRAGM-RESERVOIR
3 5437041 Cpox nocraBku OT 27 fHER RING-RESERVOIR

4 7518533 Cpox nocTaBku 0T 27 fHER BOLT-M6X1.0X20

5 7080003 CpOK IIOCTaBKY OT 3 JHEU CLAMP

6 1911267-826 Cpox nocTaBku 0T 27 fHEN HOSE-RESERVOIR

7 1911123 Cpox noctasku ot 21 gHA Egﬁ%l\/éli\/lASTER CYL,

8 7547274 Cpox nocTaBku 0T 27 fHER NUT-M6 FLANGE

9 7517950 CpoK mocTaBku oT 27 gHel SCR-M6X1.0X45 HX-FL-Y/D
10 5251561 CpoK 1ocTaBku oT 27 gHen BRKT-BRAKE MOUNT

11 7518555 Cpox nocTaBku 0T 27 fHER BOLT-M8X1.25X20

12 7518677 CpoK 1ocTaBku OT 27 gHeU BOLT-M8X1.25X50

13 7547333 CpoK 1ocTaBku oT 27 gHeH NUT-M10X1.25

14 5433189 Cpox nocraBku ot 19 nHen BUSHING-PEDAL PIVOT
15 7041750 CpoK nmocTtaBku oT 27 gHeHU SPRING-TORSION

16 1911207-067 Cpox nocraBku OT 27 fHER WELD-LEVER

17 7518559 Cpox nocTaBku 0T 27 fHER BOLT-M10X1.25X50

18 5135720 CpoOK II0CTaBKH 0T 27 gHen SPACER-12.7X10.2X30.5MM
19 7546703 Cpok mocraBku oT 19 gHei NUT




